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** BEGINNING OF EXAMINATION ** 
INTRODUCTION TO GENERAL INSURANCE 

 
NOTE concerning this sample exam – The order in which the questions appeared on a 
particular CBT administration of the exam is different from this sample. 

1. Which of the following is NOT an operating goal of an insurer? 
 
(A) Comply with legal requirements. 

 
(B) Concentrate risk. 

 
(C) Meet customer needs. 

 
(D) Earn a profit. 

 
(E) Fulfill its duty to society. 
 
 
 
 
 
 
 
 

2. What are the three core functions that exist within a typical insurer? 
 
(A) Accounting, actuarial, and underwriting. 

 
(B) Actuarial, claims, and underwriting. 

 
(C) Accounting, marketing and distribution, and sales. 

 
(D) Claims, marketing and distribution, and underwriting. 

 
(E) Actuarial, marketing and distribution, and sales. 
 
 
 



EXAM GIINT: February 2014 - 3 - GO ON TO NEXT PAGE 
Introduction to General Insurance 

 

3. Which of the following errors is the most significant problem in measuring insurer 
profitability? 
 
(A) Errors in setting adequate rates. 

 
(B) Errors in estimating future investment returns. 

 
(C) Errors in estimating loss reserves. 

 
(D) Errors in estimating sales growth. 

 
(E) Errors in classification of loss exposure units. 
 
 
 
 
 
 
 
 
 

4. Which of the following is NOT a reason insurers are subject to governmental regulation? 
 
(A) Protect consumers against fraud. 

 
(B) Guarantee insurer profit. 

 
(C) Maintain insurer solvency. 

 
(D) Prevent unfair discrimination. 

 
(E) Protect consumers against unethical marketing behavior. 
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5. Which of the following is the primary reason insurer solvency is monitored by 
regulators? 
 
(A) Insurers hold large sums of money for the benefit of consumers. 

 
(B) Insurers are inherently financially unstable. 

 
(C) The cost of insurer insolvencies is shifted to taxpayers. 

 
(D) Solvency of insurers is easily measured without much cost. 

 
(E) The claims-paying ability of insurers can be analyzed by most consumers and 

businesses. 
 
 
 
 
 
 
 
 

6. Which of the following are the three major goals of insurance rate regulation? 
 
(A) Ensure that rates are adequate, are not excessive, and are unfairly discriminatory. 

 
(B) Ensure that rates guarantee insurance company solvency, are affordable, and are 

not overly complex. 
 

(C) Ensure that rates do not allow insurers excessive or unreasonable profits, are high 
enough to pay all claims and expenses, and result in fair, consistent, and equitable 
charges among all insured groups. 
 

(D) Ensure that rates are not affected by competition, are not excessive, and are not 
discriminatory. 
 

(E) Ensure that rates are actuarially sound, are affordable to all, and are equitable. 
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7. Which of the following types of insurance customer is most likely to have the broadest 
choice of risk financing alternatives? 
 
(A) Individual. 

 
(B) Professional partnership. 

 
(C) Small business. 

 
(D) Middle market account. 

 
(E) National account. 
 
 
 
 
 
 
 
 

8. Which of the following are advantages of allowing qualified producers to handle certain 
types of claims? 

 
 I. Lower loss adjustment expenses. 
 II. Larger payments to claimants.  
 III. Quicker service to policyholders. 
 
(A) I only. 

 
(B) I and II only. 

 
(C) I and III only. 

 
(D) II and III only. 

 
(E) I, II, and III. 
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9. Which of the following is the principal method of determining a prospect’s insurance 
needs? 
 
(A) Having a conversation to determine what insurance coverage the prospect wants 

to purchase. 
 

(B) Performing a thorough risk management review of the prospect’s loss exposures. 
 

(C) Selling the prospect as much coverage as it can afford, given its insurance 
purchasing budget. 
 

(D) Determining if the prospect’s insurance needs can be placed in the standard 
market or placed in the residual market. 
 

(E) Determining which insurer offers the most attractive contingent commission 
arrangement for the prospect’s desired coverage. 

 
 
 
 
 
 
 
 

10. Which of the following does NOT determine the underwriting capacity of an insurer? 
 
(A) The volume of premiums written relative to the insurer’s policyholders’ surplus. 

 
(B) Availability and cost of adequate reinsurance. 

 
(C) Regulatory guidelines. 

 
(D) Ability to generate an acceptable return on equity. 

 
(E) Standardized methods used to organize underwriting activities. 
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11. Which of the following actions must be taken by a line underwriter if policy limits on an 
application exceed the line underwriter’s binding authority? 
 
(A) Seek approval from supervisory personnel within the underwriting department. 

 
(B) Accept the application but reclassify the loss exposure. 

 
(C) Accept the application and ignore binding authority restrictions. 

 
(D) Accept the application as a favor to the producing agent or broker. 

 
(E) Decline the application. 
 
 
 
 
 
 
 
 

12. Numerous factors help shape an insurer’s underwriting policy. Which of the following is 
NOT a constraint that would cause certain types of insurance or classes of business to be 
avoided? 
 
(A) Reinsurance treaties exclude the business. 

 
(B) The insurer’s personnel lack needed marketing and underwriting expertise. 

 
(C) Intense competition in the line of business would result in insufficient profit 

opportunities. 
 

(D) The underwriter is experiencing a high hit ratio on policies quoted. 
 

(E) Policy forms, rates, and rating plans are not available to the insurer at a reasonable 
cost. 
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13. COPE is an acronym describing a common tool used in underwriting the fire peril and 
other causes of loss to property. What does COPE stand for? 
 
(A) Conditions, Omissions, Perils, and Exclusions. 

 
(B) Construction, Occupancy, Protection, and External exposure. 

 
(C) Commercial, Operations, Production, and Entertainment. 

 
(D) Concealment, Omissions, Protection, and Exclusions. 

 
(E) Construction, Occupancy, Perils, and External exposure. 
 
 
 
 
 
 
 
 

14. Which of the following policy provisions does NOT affect the determination of the 
amount an insurer is obligated to pay at the time of a covered loss to property? 
 
(A) The policy’s coverage limit. 

 
(B) The insurable interest of all persons insured at policy inception. 

 
(C) The policy’s deductible provisions. 

 
(D) The policy’s coinsurance provisions. 

 
(E) The policy’s provisions for establishing the value of the insured property. 
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15. Which of the following is NOT a characteristic of umbrella and excess liability 
insurance? 
 
(A) Each requires the insured to pay for losses equal to the self-insured retention or 

the deductible. 
 

(B) Each provides liability coverage in excess of the underlying policy limits. 
 

(C) Umbrella liability insurance provides coverage for gaps in the underlying policies 
but excess liability insurance does not. 
 

(D) Both umbrella and excess liability insurers must assume defense of a claim if the 
underlying insurer cannot due to its insolvency. 
 

(E) Loss frequency rather than loss severity is the primary concern in underwriting 
umbrella and excess liability insurance. 

 
 
 
 
 
 
 
 

16. Which of the following is an ethical obligation insurers have with regard to using their 
superior knowledge of loss control and prevention? 
 
(A) Earn a profit. 
 
(B) Provide funds for government sponsored disaster relief programs. 
 
(C) Decline coverage for exposures that may have a loss. 
 
(D) Assist in preventing or reducing accidental losses. 
 
(E) Discourage risk-taking in business and personal activities. 
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17. Which of the following statements about premium auditing is true? 
 
(A) Premium auditing is verification of premium information included on an insurer’s 

financial statements. 
 

(B) Premium auditing is a methodical examination of the insured’s operations, 
records, and books of account to determine the actual exposure units and 
premiums for insurance to be provided in the next policy period. 
 

(C) Premium auditing is a regulatory function that determines if the insurer has paid 
the correct amount of premium taxes to the states in which it operates. 
 

(D) Premium auditing is a methodical examination of the insured’s operations, 
records, and books of account to assist in underwriting decision-making. 
 

(E) Premium auditing is a methodical examination of the insured’s operations, 
records, and books of account to determine the actual exposure units and 
premiums for insurance already provided. 

 
 
 
 
 
 
 
 

18. Which of the following is NOT a reason why accurate premium audits are important to 
the insurer? 
 
(A) Undetected premium audit errors may allow the insurer to retain premium 

overcharges and boost profits. 
 

(B) Incomplete or inaccurate premium audits cause costly extra work and a loss of 
efficiency. 
 

(C) Accurate premium audits assure equity in prices charged insured customers that 
present similar loss exposures. 
 

(D) Premium developed from premium audits is fully earned. 
 

(E) The insurer’s cash flow depends on timely and accurate billing of auditable 
commercial insurance. 
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19. Which of the following is NOT included among an insurer’s claim representatives? 
 
(A) Insurance agents and brokers. 
 
(B) Independent claim adjusters. 
 
(C) Public claim adjusters. 
 
(D) Managing general agents (MGAs). 
 
(E) Staff claim representatives. 
 
 
 
 
 
 
 
 

20. Which of the following is NOT a reason that a court of law may find an insurer to be 
guilty of bad faith claim settlement practices if it has denied payment of a claim? 
 
(A) Failing, without legal cause, to fulfill a contractual promise. 
 
(B) Mishandling the claim resulting in financial detriment to the insured or third party 

claimant. 
 
(C) Failing to comply with the implied duty of good faith claim settlement. 
 
(D) Denying a claim for which coverage was neither provided nor intended in the 

contract of insurance. 
 
(E) Failing to deal with the claimant fairly and in good faith. 
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21. Which of the following should a claim representative do when deciding how thoroughly 
to investigate a claim? 
 
(A) Be sure the investigation has been thorough enough to satisfy a judge and jury 

that good faith claim handling procedures have been followed. 
 

(B) Comply with requirements of the Fair Credit Reporting Act by avoiding any 
access to the claimant’s financial information. 
 

(C) Collect enough evidence to support denial of the claim. 
 

(D) Be sure to spend no more time on settling the claim than is considered standard by 
claim department guidelines. 
 

(E) Refer most claims to the insurer’s special investigations unit (SIU). 
 
 
 
 
 
 
 
 

22. Which of the following potential claimants does NOT have an insurable interest in 
property damaged or destroyed by a covered cause of loss? 
 
(A) An unsecured creditor of the property owner. 
(B) A person who leases the property from the owner. 
(C) Warehouse operators acting as custodians of the property. 
(D) Common carriers transporting the property. 
(E) Business partners holding property as owners in common. 
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23. Which of the following causes of loss are common carriers liable for when a shipper’s 
goods are damaged? 
 
(A) By an act of God. 
 
(B) By theft while the property is in the care, custody, and control of the carrier. 
 
(C) By negligence of the shipper. 
 
(D) By some inherent defect or vice of the goods. 
 
(E) By  exercise of public authority. 
 
 
 
 
 
 
 
 

24. Betty Smith is an avid golfer. While teeing off at her golf club recently, she sliced her 
shot and hit her golfing partner, Susan Jones, in the face causing Susan to suffer a 
laceration, severe pain, and temporary loss of vision in one eye. Betty immediately 
contacted her insurance agent, reported the mishap, and inquired about coverage under 
her homeowners’ insurance policy. The agent in turn reported the claim to the insurance 
company. In settling the claim, which step would NOT be followed by the insurer’s 
representative? 
 
(A) Identify the insurance policy covering Betty Smith. 
 
(B) Acknowledge receipt of the claim to the agent. 
 
(C) Advise Susan not to contact an attorney. 
 
(D) Determine if the loss occurred during the policy period. 
 
(E) Document and file all information concerning the claim. 
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25. Which of the following is NOT a reason why reinsurance is purchased? 
 
(A) Reinsurance increases underwriting capacity. 

 
(B) Reinsurance reduces the number of claims incurred. 

 
(C) Reinsurance stabilizes loss experience. 

 
(D) Reinsurance may provide underwriting guidance. 

 
(E) Reinsurance provides catastrophe protection. 
 
 
 
 
 
 
 
 

26. Which of the following is true regarding a facultative reinsurance contract? 
 
(A) The reinsurer is obligated to accept all loss exposures underwritten by the primary 

insurer. 
 

(B) The primary insurer must negotiate a separate agreement for each loss exposure it 
wants to reinsure. 
 

(C) The reinsurer agrees in advance to accept a set proportion of all loss exposures 
underwritten by the primary insurer. 
 

(D) Both the primary insurer and the reinsurer may cancel the contract at any time 
with sufficient notice. 
 

(E) Reinsurance protection continues as long as the primary insurer renews the 
insured’s coverage. 
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27. Which of the following reinsurance programs is best suited for a primary insurer 
experiencing rapid premium growth in its personal auto insurance line of business? 
 
(A) Finite risk reinsurance. 

 
(B) Excess of loss treaty reinsurance. 

 
(C) Pro rata facultative reinsurance. 

 
(D) Quota share treaty reinsurance. 

 
(E) Per occurrence excess of loss treaty reinsurance. 
 
 
 
 
 
 
 
 

28. Which of the following is the traditional and most commonly used system for 
compensating victims of auto accidents? 
 
(A) Pure no-fault system. 

 
(B) Absolute liability system. 

 
(C) Tort liability system. 

 
(D) Vicarious liability system. 

 
(E) Modified no-fault system. 
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29. Which of the following is the basic argument in favor of no-fault auto insurance systems 
currently used in the United States? 
 
(A) No-fault systems eliminate fraudulent claims. 

 
(B) No-fault systems offer rich benefits at lower overall cost. 

 
(C) No-fault systems offer unlimited medical benefits. 

 
(D) No-fault systems settle auto claims more quickly at lower cost. 

 
(E) No-fault systems eliminate all attorney involvement in auto injury cases. 
 
 
 
 
 
 
 
 

30. Under which type of auto insurance arrangement are all auto insurers in a state required 
to issue policies and service their proportionate share of high-risk drivers based on the 
insurer’s auto insurance premium written in the state? 
 
(A) Joint underwriting association. 

 
(B) Automobile insurance plan. 

 
(C) Unsatisfied judgment fund. 

 
(D) Reinsurance facility. 

 
(E) Specialty automobile plan. 
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31. Which of the following is NOT contained in the Declarations page of the Personal Auto 
Policy (PAP)? 
 
(A) Policy period. 

 
(B) Insuring agreement. 

 
(C) Policy number. 

 
(D) Name of the insurer. 

 
(E) Limits of insurance for each coverage provided. 
 
 
 
 
 
 
 
 

32. Liability coverage – Part A is the most common part of the Personal Auto Policy (PAP). 
Which of the following is NOT covered under the liability section of the PAP? 
 
(A) A newly acquired auto that replaces a vehicle previously described in the policy. 

 
(B) A trailer owned by the named insured. 

 
(C) A borrowed auto used by the insured as a temporary substitute during servicing of 

the insured’s primary vehicle. 
 

(D) A nonowned van that the insured drives to the grocery store each week. 
 

(E) A pickup truck owned by the named insured and shown in the policy’s 
Declarations. 
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33. Which of the following is NOT considered to be an uninsured motor vehicle by the 
Uninsured Motorists Coverage – Part C of the Personal Auto Policy (PAP)? 
 
(A) A vehicle for which no bodily injury liability insurance or bond applies at the time 

of the accident. 
 

(B) A hit-and-run vehicle whose operator cannot be identified. 
 

(C) An uninsured vehicle furnished for regular use by a family member. 
 

(D) A vehicle insured with an insurer that denies coverage due to the insurer’s 
insolvency. 
 

(E) A vehicle insured for less than the minimum liability limit required by the state’s 
financial responsibility law. 

 
 
 
 
 
 
 
 

34. Which of the following is NOT a duty of an insured after an auto accident covered under 
the Personal Auto Policy (PAP)? 
 
(A) Submit proof of loss. 

 
(B) Submit to a physical examination if requested. 

 
(C) Agree to an examination under oath. 

 
(D) Admit negligence to the police if at fault. 

 
(E) Provide prompt notice to the insurer. 
 
 
 
  



EXAM GIINT: February 2014 - 19 - GO ON TO NEXT PAGE 
Introduction to General Insurance 

 

35. Which of the following is NOT a common endorsement added to the Personal Auto 
Policy (PAP)? 
 
(A) Snowmobile endorsement. 

 
(B) Limited Mexico coverage endorsement. 

 
(C) Auto loan/lease (Guaranteed Auto Protection – GAP) coverage. 

 
(D) Towing and labor cost coverage. 

 
(E) Garage Business endorsement. 
 
 
 
 
 
 
 
 

36. Which of the following is true regarding tenants of rented apartment units? 
 
(A) Tenants have no need for Homeowners insurance. 

 
(B) Tenants must insure both the apartment building and their personal property. 

 
(C) Tenants are eligible for Homeowners insurance using HO-3 (the Special Form). 

 
(D) Tenants are eligible for Homeowners insurance using HO-4 (the Contents Broad 

Form). 
 

(E) Tenants are eligible for Homeowners insurance using HO-8 (the Modified 
Coverage Form). 
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37. One of the Conditions in Homeowners HO-3 (the Special Form) lists the insured’s duties 
after a property loss. Which of the following statements concerning this condition is true? 
 
(A) The insured’s claim representative might not require that all of these duties be 

performed. 
 

(B) The insurer is prevented from denying a claim even if the insured fails to perform 
required duties. 
 

(C) All listed duties always must be performed prior to final claim settlement. 
 

(D) Claim representatives usually waive most or all duties expected of the insured. 
 

(E) As long as the insured gives prompt notice of the loss, the insurer cannot require 
other duties to be performed. 

 
 
 
 
 
 
 
 

38. Spencer has a Homeowners HO-3 policy that provides $320,000 of insurance on his 
dwelling, which has a current replacement value of $500,000. Ignoring any deductible, 
how much will Spencer collect if his kitchen with a replacement value of $30,000 but an 
actual cash value of $26,000 is destroyed in a fire? 
 
(A) $20,800 

 
(B) $24,000 

 
(C) $26,000 

 
(D) $28,000 

 
(E) $30,000 
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39. Which of the following is NOT an exclusion in Section II of the Homeowners HO-3 
policy? 
 
(A) Intentional injuries. 

 
(B) Business activities. 

 
(C) Transmission of a communicable disease. 

 
(D) The gradual yet accidental seepage of pollutants from the insured’s septic system 

into the neighborhood water supply. 
 

(E) Injuries caused by operation of a motor vehicle registered for use on public roads. 
 
 
 
 
 
 
 
 

40. Which of the following statements regarding the “severability of insurance” condition in 
the HO-3 Special Form insurance policy is true? 

 
I. The condition applies insurance separately to each insured. 
II. The condition does not increase the insurer’s limit of liability for any one 

occurrence. 
III. The condition allows the policy to cover a claim brought by one insured 

against another insured. 
 
(A) I only. 

 
(B) I and II only. 

 
(C) I and III only. 

 
(D) II and III only. 

 
(E) I, II, and III. 
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41. Which of the following motor vehicles is NOT covered under Section II – Liability 
coverage in the ISO HO-3 policy? 
 
(A) Motor vehicle in dead storage on an insured location. 

 
(B) Motor vehicle powered by one or more batteries that cannot exceed five miles per 

hour on level ground that is designed as a toy for use by children under the age of 
seven. 
 

(C) Motor vehicle used solely to service a residence. 
 

(D) Motor vehicle used for snow removal on public roads within one mile of an 
insured location. 
 

(E) Motor vehicle designed for assisting people who are handicapped. 
 
 
 
 
 
 
 
 

42. Which of the following statements about Fair Access to Insurance Requirements (FAIR) 
plans is true? 

 
I. FAIR plans make property insurance coverage available for exposures 

located in areas underserved by the voluntary market. 
 

II. FAIR plans are uniform in methods of operation and products offered in 
all states. 
 

III. FAIR plans require covered property to meet inspection criteria 
established by the plan. 

 
(A) I only. 

 
(B) I and II only. 

 
(C) I and III only. 

 
(D) II and III only. 

 
(E) I, II, and III. 
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43. Which of the following is NOT typically contained in the declarations page of a 
Commercial Package Policy? 
 
(A) The description of the covered property. 

 
(B) The list of mortgagees, if any. 

 
(C) The list of optional coverages, if any. 

 
(D) The cancellation provisions. 

 
(E) The policy period. 
 
 
 
 
 
 
 
 

44. What is the fundamental difference between the three commercial property insurance 
covered causes of loss forms – Basic Form, Broad Form, and Special Form? 
 
(A) The type(s) of property covered. 

 
(B) Only the Special Form offers additional coverage for fungus and collapse. 

 
(C) The number of perils listed in each causes of loss form. 

 
(D) The Basic Form names the perils covered while the Broad and Special Forms 

cover all perils that are not specifically excluded. 
 

(E) Both the Basic and Broad Forms are written on a named perils basis while the 
Special Form provides coverage for all direct causes of loss not specifically 
excluded. 
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45. ABC Corporation is insured under a Business and Personal Property Coverage Form that 
specifies a $4 million limit of insurance on the building and a $500,000 limit on business 
personal property at the building’s address. The policy has a $10,000 deductible. A $4.4 
million loss to the building and a $400,000 loss to business personal property result from 
a covered cause of loss. Two trees also are destroyed, resulting in a $1,000 loss fully 
covered by BPP Coverage Form’s Outdoor Property coverage extension. Assuming no 
coinsurance penalty applies, what is the amount payable after consideration of the 
deductible and policy limits? 
 
(A) $3,901,000. 

 
(B) $3,910,000. 

 
(C) $4,391,000. 

 
(D) $4,401,000. 

 
(E) $4.791,000. 
 
 
 
 
 
 
 
 

46. Which of the following is true regarding the “No Benefit to Bailee” condition used in 
commercial property forms? 
 
(A) Limits a bailee’s liability for damages to the property of others in the bailee’s 

care, custody, and control. 
 

(B) Is intended to defeat a bailee’s attempts to limit its liability for damages to 
property insured by the bailor. 
 

(C) Makes the bailee’s insurance secondary to insurance of the bailor. 
 

(D) Defeats the insurer’s right of subrogation against the bailee. 
 

(E) Requires the insured to hold harmless any bailee who has temporary custody of 
the insured’s property. 
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47. Which of the following statements concerning the Agreed Value optional coverage 
available for purchasers of the Business and Personal Property Coverage Form is NOT 
true? 
 
(A) This option removes any uncertainty regarding compliance with the coinsurance 

clause. 
 

(B) Insurers typically require proof of value before providing agreed value coverage. 
 

(C) Agreed values of property are shown on the policy’s declarations page. 
 

(D) If the limit of insurance is less than the agreed value, the full agreed value of 
property destroyed by a covered cause of loss will be paid. 
 

(E) If this coverage option is not renewed, the Coinsurance condition is reinstated. 
 
 
 
 
 
 
 
 

48. Which of the following factors does NOT result in higher premiums on commercial 
property insurance? 
 
(A) Larger limits of insurance. 

 
(B) Smaller deductible amounts. 

 
(C) Broader covered causes of loss. 

 
(D) Higher coinsurance requirements. 

 
(E) Additional optional coverages. 
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49. The most widely used general liability insurance form is the Insurance Services Office, 
Inc. (ISO) Commercial General Liability (CGL) policy. Which of the following 
statements about the CGL are true? 

 
I. It can be written to cover the insured’s legal liability arising from premises 

and operations. 
 

II. It can be written to cover the insured’s legal liability arising from products 
and completed operations. 
 

III. It can be included in a Commercial Package Policy that provides coverage 
for both property and liability losses. 

 
(A) I only. 

 
(B) II only. 

 
(C) III only. 

 
(D) I and II only. 

 
(E) I, II, and III. 
 
 
 
 
 
 
 
 

50. The most widely used general liability insurance form is the Insurance Services Office, 
Inc. (ISO) Commercial General Liability (CGL) policy. Which of the following is NOT 
covered by the CGL with respect to the insured’s legal liability? 
 
(A) Bodily injury. 

 
(B) Property damage. 

 
(C) Personal injury. 

 
(D) Intentional injury. 

 
(E) Advertising injury. 
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51. Which of the following are paid by the Commercial General Liability form’s Coverage C 
– Medical Payments?  

 
I. Only medical expenses for which the insured is legally liable.  
II. Medical expenses arising from injuries resulting from an accident 

occurring on the insured’s premises.  
III. Medical expenses from injuries arising out of the insured’s completed 

operations.  
 
(A) I only. 

 
(B) II only. 

 
(C) I and II only. 

 
(D) II and III only. 

 
(E) I, II, and III. 
 
 
 
 
 
 
 
 

52. Which of the following statements regarding certain supplementary payments under 
Coverages A and B of the Commercial General Liability policy are true? 

 
I. Such payments are in addition to the policy limits. 
II. Such payments are used to pay for court costs. 
III. Such payments are used to pay for prejudgment interest on amounts 

awarded to the plaintiff. 
 
(A) I only. 

 
(B) II only. 

 
(C) I and II only. 

 
(D) II and III only. 

 
(E) I, II, and III. 
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53. Chip is a volunteer worker at his church’s mid-week adult day care facility. He 
accidentally spilled hot coffee on one of the elderly participants, Mary. After being 
treated for third-degree burns, Mary sued both the church and Chip for damages resulting 
from her injury. The church is insured under the Commercial General Liability (CGL) 
policy. Which one of the following statements is true? 
 
(A) The church cannot be sued because it operates the adult day care facility as a 

charity at no charge to participants. 
 

(B) Mary cannot sue the church because she voluntarily participated in the adult day 
care program. 
 

(C) No coverage applies because the CGL only covers commercial businesses. 
 

(D) Only the church would be covered by the CGL as a named insured. 
 

(E) Both the church and Chip would be covered as insureds under the CGL policy. 
 
 
 
 
 
 
 
 

54. The owner, who also is the landlord, of an office building has Premises and Operations 
coverage under a Commercial General Liability (CGL) policy with a general aggregate 
limit of $5 million. The policy does not contain a Products and Completed Operations 
aggregate limit. Which of the following is true regarding any damages caused by 
products and completed operations for which the insured is liable? 
 
(A) The damages will not be covered by the CGL. 

 
(B) The damages will be paid without regard to fault. 

 
(C) The damages will be paid without regard to limit. 

 
(D) The damages will be applied to the policy’s general aggregate limit. 

 
(E) The damages will be paid up to $5 million in excess of the policy’s general 

aggregate limit. 
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55. In the United States, which of the following is true regarding workers compensation? 
 
(A) Workers Compensation is governed by a system of laws that vary from state to 

state. 
 

(B) A federal system that assures uniformity across the country governs workers 
compensation insurance. 
 

(C) Workers Compensation is an exclusive remedy that effectively shields employers 
from all liability suits for work-related injuries. 
 

(D) Workers Compensation statutes require employers to purchase insurance as the 
exclusive way to demonstrate financial responsibility to pay claims for work-
related injuries to their employees. 
 

(E) Employers that cannot meet workers compensation insurers’ underwriting criteria 
are left to rely on their Employers Liability insurance policy. 

 
 
 
 
 
 
 
 

56. Workers compensation statutes apply to virtually all industrial workers and to most other 
kinds of private employment. However, there are a few exceptions to the requirement to 
have workers compensation coverage. Which of the following is NOT an exception? 
 
(A) Casual employees only hired for a short period of time. 

 
(B) Employees in certain states that do not require coverage in firms with few 

employees. 
 

(C) Full-time employees who are paid without formal acknowledgment of 
employment status. 
 

(D) Domestic workers in states that exempt their employers from obtaining coverage. 
 

(E) Farm laborers in states that exempt their employers from obtaining coverage. 
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57. Which of the following are true regarding the Voluntary Compensation and Employers 
Liability endorsement to the Workers Compensation and Employers Liability (WC & 
EL) insurance policy? 

 
I. It extends workers compensation coverage for types of employment 

typically exempt from statutorily mandated coverage. 
II. It allows the employer to have the insurer pay benefits in excess of those 

required by statute in cases of severe work-related injuries. 
III. It extends coverage to employees who are residents or citizens of the 

United States or Canada but temporarily outside those countries for 
business purposes. 

 
(A) I only. 

 
(B) II only. 

 
(C) I and II only. 

 
(D) I and III only. 

 
(E) I, II, and III. 
 
 
 
 

58. Which of the following is true regarding “drop-down” coverage that pays claims for 
which the underlying commercial liability policies do not provide coverage, regardless of 
aggregate limits? 

 
I. It is provided by commercial excess liability insurance. 
II. It is provided by commercial umbrella insurance. 
III. It is typically subject to a self-insured retention. 

 
(A) I only. 

 
(B) II only. 

 
(C) I and III only. 

 
(D) II and III only. 

 
(E) I, II, and III. 
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59. Which of the following is NOT a way that aircraft insurance resembles auto insurance? 

 
(A) Both are divided into liability and physical damage sections. 

 
(B) Both require strict qualification and licensing of drivers or pilots. 

 
(C) Both exclude obligations of the insured under workers compensation laws. 

 
(D) Both exclude loss due to wear and tear, mechanical breakdown, or tire damage. 

 
(E) Both may contain non-liability payment of medical expenses for occupants. 
 
 
 
 
 
 

60. Which of the following is an important difference between coverage provided by 
commercial general liability (CGL) insurance and coverage provided by professional 
liability and management liability insurance? 
 
(A) Costs of legal defense often are paid within (not in addition to) policy limits in 

CGL policies while these costs are paid in addition to policy limits in professional 
liability and management liability policies. 
 

(B) Unlike CGL policies, legal liability must be admitted by the insured for coverage 
to apply under professional liability and management liability policies. 
 

(C) Professional liability and management liability policies are written with a claims-
made trigger less frequently than are CGL policies. 
 

(D) The CGL often has large limits of liability coverage while professional liability 
and management liability policies have smaller limits. 
 

(E) Unlike CGL policies, professional liability and management liability policies 
often give the insured the right to participate in the decision regarding whether or 
not a claim should be settled or contested. 
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Answers to February 10, 2014 Introduction to General Insurance Exam 

Question Answer Question Answer Question Answer 
1 B 21 A 41 D 
2 D 22 A 42 C 
3 C 23 B 43 D 
4 B 24 C 44 E 
5 A 25 B 45 C 
6 C 26 B 46 B 
7 E 27 D 47 D 
8 C 28 C 48 D 
9 B 29 D 49 E 

10 E 30 B 50 D 
11 A 31 B 51 B 
12 D 32 D 52 E 
13 B 33 C 53 E 
14 B 34 D 54 D 
15 E 35 E 55 A 
16 D 36 D 56 C 
17 E 37 A 57 A 
18 A 38 C 58 D 
19 C 39 D 59 B 
20 D 40 E 60 E 

 

 



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


